a(6 @) (rad)

a(d cot(B))

07

1]
e
=
2
o]
o
2
©
o 153
g
[ad [
=

1

iy
TTTT T T

[y
o
I8

; I : 2 3
1 TPlpg)T (PCA t%)obeamlin%)o

[any
o0
I8

9 J..U;J_ :
T r :
o [ .
G & o R R R L R LR e
.2 3 095-—1 :2 3
1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
—=— DQM_TT__originalREDO100
—e— DQM_TT__originalREDO100f
—— DQM_TT__originalREDO100fb
£
c
;N
2
o
| L | L | L o 1073} | L | L |
: T t
: [ad [
b - e ------------ 1_—- b - e ea e
2 3
TPl[g)T (PCA f%)obeamlinép

2 3
1 TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


